AlG F; i BiA B g 2R A B2 1108 £ 2% - 8 a3t
MR &
p|a e . o g (3 P
B4 - * * ’ 2 |FF
2 | v i S vy RS T A2 F F iy
v | SF [FERTBRPI(AT)  32Kg |HEE 30Kg /N3 38Kg |l -2 2 16Kg 16.1g
14 X T fifggETH (k) 12Kg | #2505 15Kg |/]\ok 3Kg |5 LB A T 1AZ) 6Kg LR
INGT-(1/4) IR OKg |BReErEhiS (BL-6i4R) 20 | Rk 3Kg | B4 0.6Kg 7.6 g
% BHHE IKg |[HHE 1Kg | A~ 0.3Kg Fw B
g LA 0.6Kg 24.6 g
- #E
% # 233+ +
552420 %
2 | 1 B EEAAR | W e F ~ T #F pEAE
v | ZK | BHEECEEET CAS) 42Kg [SEi S 20Kg | e sekg |/INSIEILF/-HEE) 106 34.2 g
15 | & FEIMEE T (CAS)  OKg |FIRZREHR A K 71) 15Kg | A~ 0.3Kg |/ NEZEIEE 85Ky v s
2 EHhH 0.6Kg |78/ 4Kg K 8Kg 9.6 g
-3 TUEE 0.3Kg | RH 3Kg FEIZHRA(IN%%)  5Kg v f
Hp JHERER(600g) 1M 23.9 g
= FrERsE 0.6Kg #E
% ¥ F B HES(Kg)  0.1Kg 318+ +
5521204 EENES ) 0.1Kg
2 | LR iE & A 1 AN adiaE Rt pE A
3 q%bt )| 80Kg [tEJIAL(CAS) 552 |4k 2F (%) 18Kg |#iE 10Kg 45.8 g
16 | ' |semmmmons  12Kg DRSS 200 | SsEER Y 3Kg |FEE(RE) 5Kg L
P EN e 8Kg |/1NEE R (M) 34 46 = 0.6Kg 11.9 g
-3 E[52 2Kg FIAET S 0.3Kg B B
2P HE 1Kg 17.1 g
= LEENES ) 0.6Kg #E
£ HZE a4 (Kg)  0.3Kg 354+ +
552420 %
2 | ] & i A e ¥ e Kk WE L E e PEA
vl |BEGIEQ 5524208 [ELOLEZE(FEL)  8Kg|EHTH 38Kg (Elf £ oKkPf(cas) 15Kg 16.1 g
17 | A< | KE#(kg) 5Kg |4 ZIEF(RIY)-43 885 [ A= 0.3Kg | FIEAWHES T H%) 5Kg U
PR 1 w03 4Kg 9.7¢g
-1 &tk 2Kg Fd F
# HHE 1Kg 14.0 g
.3 # 5
% ¥ 194+ +
552420 &
2 | @ A whe el X5 ALK S o PEAE
| 5K [BEEALAGAR)  33Kg |BE(ER) 20Kg 13 38Kg |FEE (NF) 5Kg 22.2 g
18 | A |y 15Kg | R R 12Kg [ K57 0.3Kg |RIE(3K) 28 LR
p = (CAS) 5Kg [FERBRAIGEAT) 12Kg Ha H (R T)-#5 288 6.1 g
5 /INBE S SRR (OX) 16 | HEEE] 2 57 3Kg HHE 0.3Kg v
# HHE 0.5Kg |iiimE#3(600gs) 24 25.3 g
S X 1Kg 2P
% ¥ 231+ +
552420 %
WY Erih L e BBaE ¢ 04-8613339 {#HE : 04-8613336
MAFHEpE Y NALER
2% 2t EX TS &£



